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1= &g Group 1
JIE {57 4 Hi i IT 1A | 2T 2A | 3T 3A [ 4T 4A [ 57 5A [ 6T 6A [ 7T 7A | TEC  ATH Total
1 [fAE B NS AVE 7.8 (7.8)|(8.0) 7.6 | 7.8 7.6 7.4 7.4[(7.2 (7.2 16.1 6.78 22. 88
2 |HE Es} NP LA (8.0) (7.8)| 7.6 7.8 7.6 (7.2)| 7.6 7.2 |(7.4) 7.2 15.96 6.66 22. 62
3 pkE DAV (1.2) (1.2)] 7.2 7.2 7.0 (6.8)| 7.2 7.0[(6.8) 7.0 14.98 6.36 21. 34
4 |k BERR A 7.0 (.74 7.4(7.0 7.2[70 7.2[@6.6) (6.6) 14.7 6.54 21.24
5 [=h AsE DAV (6.4) 6.8]6.6 (6.6)] 6.8 6.8]6.8 (7.0)(7.0) 6.8 14.14 6.12 20. 26
6 |FH A (0.0) (0.0)](0.0) (0.0)[ 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
6 |k 15 (0.0) (0.0)](0.0) (0.0)f 0.0 0.0[0.0 0.0]0.0 0.0 0.0 0.0 0.0

1[o] B Group 2
JEAE 4 Hif ¥4 IT 1A | 2T 2A | 3T  3A | 4T 4A [ 5T 5A [ 6T 6A [ 7T 7A [ TEC  ATH Total
L [l ek A 8.0 (8.0) 80 (7.8)[(8.2) 80|80 7.8([(7.8 7.8 16.8 7.08 23.88
2 |2 AR A (7.6) 7.4 |(1.2) 7.4|7.6 (1.2)| 7.6 7.2 7.4 (7.6) 15.82 6.6 22. 42
3 [ KA A (7.4) (1.0)| 7.4 7.0 [(7.8) (7.6)| 7.8 7.0 | 7.4 7.4 15.82 6.42 22. 24
4 |5 BiAK A 6.8) 7.2 7.2 6.8)|(7.6) (7.4 7.4 74|70 7.2 15.12 6.54 21. 66
5 | s DN (6.8) (6.8)] 7.0 6.8 7.2 (7.2)|(7.4) 7.27.0 7.0 14.84 6.3 21. 14
6 |ILiHE 1K (0.0) (0.0)](0.0) (0.0)] 0.0 0.0 0.0 0.0]0.0 0.0 0.0 0.0 0.0

1[5 Bk Group 3
JIE {57 4 Hi i IT 1A | 2T 2A | 3T 3A [ 4T 4A [ 57 5A [ 6T  6A [ 7T 7A | TEC  ATH Total
I P B S~ t—3A (7.8) 7.8 ((8.2) (8.0)] 7.8 7.8 7.8 (7.4)]8.0 7.8 16.52 17.02 23. 54
2 |EfE B NP LA (7.6) (7.6)| 7.8 7.6 |(8.0) (7.8)| 7.8 7.6 | 7.8 7.8 16.38 6.9 23. 28
3 |RHE R A (7.0) (7.2)| 7.6 (7.6)|(7.8) 7.6 | 7.6 7.6|7.8 7.6 16.1 6.84 22. 94




wEEsT—E HE2AIEI A e TR TR 2
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LR B i AR A A
4 |GHEE XK Nyt A 2 A 7.4 7.2 (7.8 (1.8)[(7.2) 7.2 7.2 (6.8)]7.6 7.4 15.54 6.54 22. 08
5 |FEES #ELS Frhv (7.2) (71.0)| 7.4 (7.0 7.2 7.0|(7.6) 7.4|7.2 7.4 15.26 6.54 21.8
6 | Pk Ay 6.8) (6.8)| 7.0 (7.2)| 7.2 7.0 7.2 7.2|(7.4) 7.2 14.98 6.42 21.4
1[E] & Group 4
JIE {57 4 Hi E_4 IT 1A | 2T 2A | 3T 3A [ 4T  4A [ 57 5A [ 6T  6A [ 7T 7A | TEC  ATH Total
I AT ) AT (8.0) (7.6)|(8.2) (8.2)| 8.0 7.8 8.0 80|80 8.0 16.8 7.14 23.94
2 |wr BT IEA 7.4 T4 7.4 7.2|(1.2) 7.6 7.4 (1.0)[(7.8) (7.8) 15.54 6.66 22.2
3| B T UEA 7.0 7.0[(6.8) (6.8)|(7.4) 7.2 7.4 (7.6)[ 7.4 1.6 15.26 6.54 21.8
4 L SR D (7.2) .o 7.2 12|74 (1] 7.4 T.2|7.2 T.2 15.26 6.48 21. 74
5 | EH VN AV 6.8 7.0[(6.6) (6.4)] 7.0 (7.2)| 7.0 6.8 |(7.2) 7.0 14.56 6.24 20.8
6 |5 HERK A (6.6) (6.8)] 6.6 (6.6)] 6.6 6.8 6.6 6.6 (6.8 6.8 13.86 6.06 19. 92
1[5 B Group 5
JEAE 4 Hi ¥4 IT 1A | 2T 2A | 3T  3A | 4T 4A [ 5T 5A [ 6T 6A [ 7T 7A [ TEC  ATH Total
R oY A 7.6 (1.O)|(7.8) 7.6 |(7.4) 7.6|7.8 7.6 7.8 (7.8) 16.24 6.84 23. 08
2 [BF+ BX = (7.2) (1.2)| 7.2 7.2|7.6 7.6][8.2) (8.0]7.6 7.6 15.68 6.72 22. 4
3 |t BLE Nyt A 2 A (.00 6.6)| 7.2 7.0 7.2 70|76 (1.2 7.4 7.2 15.26 6.36 21. 62
4 ke ER Ay (6.2) (6.4 7.0 6.6]6.8 (7.2)|(7.4) 7.216.8 7.2 14.42 6.3 20. 72
5 |GHEE ESr A 6.8 6.8]6.8 (6.6)|(6.4) 6.6|(7.0) (7.0)] 7.0 7.0 14.42 6.12 20. 54
6 |/AR 2 DN (7.0) (6.4)] 6.6 7.0 ](6.4) (7.2)] 6.6 6.6 6.8 7.2 14.0 6.24 20. 24
TR TR Y (0.0) (0.0)](0.0) (0.0)] 0.0 0.0 0.0 0.0]0.0 0.0 0.0 0.0 0.0

1[E]1 5

Group 6
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JIE {57 4 Hi E_4 IT 1A | 2T 2A | 3T 3A [ 4T 4A [ 57 5A [ 6T  6A [ 7T 7A | TEC  ATH Total
1 |dH HZ DAV (1.4) (1.4 7.4 7.8 7.4 (8.0 7.4 7.6[(7.8 7.8 15.54 6.96 22.5
2 |4 Bt VNS AV 6.8) (7.2)| 7.2 7.2|7.6 (7.6)[ 7.6 7.2](.0 7.6 15.68 6.6 22. 28
3 [R% HE N AvE (7.6) (7.8)| 7.4 7.6 7.2 7.8|7.0 (7.4|(6.6) 7.4 15.12 6.84 21.96
4 [BRHHE AT (7.0) 7.2 7.4 7.0]7.0 (6.8](7.8) (7.6)| 7.2 6.8 15.12 6.3 21. 42
5 |fexAk 2z A (7.4) (1.6)|(7.0) (7.2)| 7.0 7.4 7.2 7.2|7.0 7.2 14.84 6.54 21.38
6 |HA VN AV 6.6 6.8[6.6 6.8[6.8 (7.2)[(7.2) 7.2](6.2) (6.6) 14.0  6.24 20. 24
1[o] B Group 7
JEAL 4 Hi ¥4 IT 1A | 2T 2A | 3T  3A | 4T 4A [ 5T 5A [ 6T 6A [ 7T 7A [ TEC  ATH Total
1| R NI A (7.4) (1.0)|(7.6) 7.6 7.4 7.6|7.6 (7.8 7.6 7.6 15.82 6.84 22. 66
2 |=3® %+ DN 6.4) 6.8)] 7.0 (7.4 6.4 7.2[7.0 7.4|(7.4 7.2 14.28 6.54 20. 82
3 |FEm HIE e yEA 6.8 (6.6)|(6.6) 6.8 [(7.2) (7.2)| 6.6 6.8 7.0 7.2 14.28 6.24 20. 52
4 /B B DN (6.4) (6.6)|(6.8) 6.8 6.8 (7.2)[ 6.6 7.0]6.8 6.8 14.14 6.18 20. 32
5 |zl L A (6.8) (6.4)|(6.4) 6.4 6.6 (6.8)] 6.8 6.6 6.6 6.6 14.0 5.88 19. 88
6 |FrEE A Ay (6.2) (7.4)] 6.4 (6.2)] 6.6 6.4 6.4 6.6 |(7.2) 7.2 13.58 6.06 19. 64
1[=] & Group 8
JIE {57 4 Hi E_4 IT 1A | 2T 2A | 3T 3A [ 4T 4A [ 57 5A [ 6T  6A [ 7T 7A | TEC  ATH Total
1 [=l XA t—r3a (8.4) 8.0]7.8 (7.6)] 8.2 (8.4 7.8 7.6[(7.4) 7.6 16.66 6.96 23. 62
2 |G mER A (8.2) (71.8)| 7.4 7.4 7.4 7.6|7.4 7.6][(7.2 (7.2 15.54 6.78 22. 32
3= BEX NP LA 7.0 6.8 7.0 7.0[6.8 7.0[(7.2 (7.4[@®6.6) 6.8 14.56  6.24 20.8
4 |@EfE IR T UEA (6.4) (7.2)] 6.4 6.6 |(6.8) (6.2)] 6.8 7.216.8 7.0 14.0 6.24 20. 24
5 | —E  EEA A (6.4) (6.6)] 6.4 6.2 6.4 6.6|(6.2) (6.0]6.2 6.2 13.3 5.7 19.0




wEEsT—E HE2AIEI A e TR TR 2
BFEAR FREFGA 161
= IN =055 NN
6 |fnl Hidg Frhw (6.4) (6.4)](5.8) 6.0 6.0 6.0 6.0 (5.8 6.4 6.4 12.88 5.52 18.4
1= &g Group 9
JIEA £ Hi ¥ 4 IT 1A | 2T  2A | 3T  3A | 4T  4A | 5T  5A | 6T  6A | 7T  7A | TEC ATH Total
I [\EA B/ Ny A A 7.6 (1.8)](7.2) (1.0)| 7.4 7.2|7.4 7.2|(.8 7.8 15.68 6.66 22. 34
2 | KH H9R VA X (8.2) (71.8)|(6.8) (7.0)] 7.4 7.0 7.6 7.4 7.6 7.2 15.82 6.48 22.3
3 |HAR Kk Fo b 7.4 7.2 7.4 7.2|0.8 (1.2 (7.0 7.4 7.2 15.54  6.48 22. 02
4 (B — i v (7.4) (1.2)|(6.8) 7.2 7.0 (6.8 7.0 7.2[7.2 7.0 14.84 6.42 21. 26
5 |ER E FrhY (7.0) (7.0)|(6.6) (6.8)] 6.8 6.8 6.8 6.8 7.0 6.8 14.42 6.12 20. 54
6 |BPAT A DA (0.0) (0.0)]¢0.0) (0.0)] 0.0 0.0 0.0 0.0[0.0 0.0 0.0 0.0 0.0
6 |RuE Z= VN AR (0.0) (0.0)]¢0.0) (0.0)] 0.0 0.0 0.0 0.0[0.0 0.0 0.0 0.0 0.0
1[o] Group 10
JIEAE £ i e 4 IT 1A | 2T 2A | 3T  3A | 47 4aA | 5T  5A | 6T  6A | 7T  7A | TEC ATH Total
IR 7 N 8 A F 7.6 7.6](.6) (8.6)[ 82 80|82 7.8](6.8 (6.8) 16.8  7.02 23. 82
2 g BER t—ra 7.4 (7.2)](8.2) 8.4 80 82|80 7.6[(7.2 7.4 16.38 6.96 23. 34
3 |IME EE Ny A FA 7.2 (1.2)|(7.4) 7.2 70 68|74 7.2|61 6.4 15. 12 6.36 21.48
4 R BM oF (6.8) 6.8 1(7.8) 8.0)| 7.2 7.417.2 6.8[7.0 (6.6) 14.98 6.3 21.28
5 |FEF K NIV 6.6 (6.8)[(6.8) 6.8]16.8 6.8]6.8 (6.6)[(6.4 6.6 14.14 6.06 20. 2
6 /AR A Ve 6.4 6.8]|(6.6) 6.8[6.4 (6.4 6.6 6.6]®6.2) (7.0 13.58 6.06 19. 64
1= &g Group 11
JIEAT £ Hi ¥ 4 IT 1A | 2T  2A | 3T  3A | 4T  4A | 5T  5A | 6T  6A | 7T  7A | TEC  ATH Total
1| BE s Ny A KA (8.0) 8.2)| 7.6 7.618.0 7.6|(7.2) (6.8)[ 7.8 8.0 16.38 6.96 23. 34
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2 i s NI A (7.8) (8.2)| 7.8 8.0 [(7.4) (7.4 7.4 76|74 7.6 15.82 6.96 22. 78
3[R CHAK Frhy (7.6) (7.8)| 7.6 7.6 | 7.6 (7.4)[(7.4) 7.6|7.6 7.4 15.96 6.78 22.74
4 | EEKEA Nyt A2 A (7.4) (71.2)] 7.0 6.8 7.0 6.8](6.4) (6.4)] 6.6 6.6 14.42 6.06 20. 48
5 |HEE RS D 6.6 6.8](6.8) (7.0)] 6.8 6.8] 6.8 (6.6)|(6.2) 6.8 14.14 6.12 20. 26
6 |mfE Ik NI A 6.8 6.8[(7.00 (7.2)| 7.0 7.0](6.2) (6.2)] 6.2 6.6 14.0  6.12 20. 12
1[5 B Group 12
JIE {57 4 Hi E_4 IT 1A | 2T 2A | 3T 3A [ 4T 4A [ 57 5A [ 6T  6A [ 7T 7A | TEC  ATH Total
1 ke 2l T3 (8.4) 82|82 7.8[80 (84|80 82|74 (7.4 16.94 17.26 24. 2
2 | H AR ARW T UEA (8.0) (7.8)| 7.6 7.6 |(7.2) 7.2 7.6 7.6|7.2 (7.0) 15.68 6.72 22. 4
3 [Wn mzA D (7.4) (1.9 7.4 7.2[6.8) 6.8)] 7.0 7.4|7.4 7.4 15.26 6.6 21. 86
4 | FENE A (7.2) (1.2)| 7.2 1.2 |(7.0) (6.6)| 7.2 7.2 | 7.0 7.0 14.98 6.42 21. 4
5 |1l A E A 6.8 6.8[(7.2) (7.0)[(6.2) 6.6|6.6 6.6 6.4 (6.4) 13.86 6.0 19. 86
6 |HET A Frhy 6.6 6.4](6.8) (6.6)|(6.0) (5.8)[ 6.0 6.0|6.6 6.6 13.44 5.7 19. 14
1[5 B Group 13
JEAE 4 Hif ¥4 IT 1A | 2T  2A | 3T  3A | 4T  4A [ 5T 5A [ 6T 6A [ 7T 7A [ TEC ATH Total
L3 =— Nyt A XA 7.6 7.4(6.0) 7.6 8.0 (7.8)[(7.2) (7.2)[ 7.6 7.2 16.24 6.66 22.9
2 IS BiHE A (7.4) (1.0 7.6 7.4|7.6 7.4|7.4 (1.6)[7.8 7.4 15.82 6.66 22. 48
3 [ET BEX NI A (7.8) 7.6 | 7.0 7.2|7.6 (7.8)|6.8) (7.0)| 7.4 7.2 15.4 6.6 22.0
4 |FrfR &oL NI A 7.2 7.216.8 (1.0)[(7.4) 7.2 [(6.6) 7.0 7.2 (7.4) 14.84 6.42 21. 26
5 |HF I Ay (7.2) (7.0)] 6.6 6.8 6.6 6.6|(6.2) (6.0 6.8 6.6 14.0 6.0 20.0
6 |At: #&ILEA N (7.2) (1.4)] 6.6 6.8|6.4 6.6|(5.4) (6.2)] 6.4 7.2 13.58 6.18 19. 76
T 2E KB Ay (5.8) (6.0)](6.0) 6.0 6.0 6.0]|58 (6.2)]58 6.0 12.32 5.4 17.72
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1= &g Group 14
JIEA £ Hi ¥ 4 IT 1A | 2T  2A | 3T  3A | 4T  4A | 5T  5A | 6T  6A | 7T  7A | TEC  ATH Total
I E TN Ny A A (8.2) (8.0)] 7.8 8.0 7.6 (7.4)](7.2) 7.68.0 8.0 16.38 7.08 23. 46
2 |AHE ARF Ny A KA 7.4 (1.4 7.4 7.4(16.4 (6.2)]6.2) 6.4|7.6) 7.4 14.84 6.36 21.2
3 |RAE B DA (7.2) 7.0]1 6.8 6.8]6.8 (7.2)|](6.4) (6.2 6.8 7.0 14.28 6.24 20. 52
4 |k HzE Fo b 6.8 (6.6)|(6.6) 6.6 6.6 6.6](7.00 6.8 7.0 (7.0 14.28 6.0 20. 28
5 | EBX Ny A HA 6.6 6.6|6.6 7.0[6.2 6.4[5.8 6.0)|(7.4) (7.4 13.58 6.0 19. 58
6 |HF EL VN AR (0.0) (0.0)]¢0.0) (0.0)] 0.0 0.0 0.0 0.0[0.0 0.0 0.0 0.0 0.0

1[o] B Group 15
JIEAE £ Hi e 4 IT 1A | 2T 2A | 3T  3A | 47 4aA | 5T  5A | 6T  6A | 7T  7A | TEC ATH Total
1 [RE BE VINAE 7.4 7.6 7.4 7.6|@6.6) (7.4 8.0 (8.0[(8.2) 8.0 15.96 6.96 22.92
2 |me 2 Ve 7.2 (7.0)|(7.8) (7.8)[(7.0) 7.2 | 7.8 7.8|7.4 7.4 15.68 6.72 22. 4
3 |AE v (7.8) 7.6 16.8) (7.0)] 7.4 7.6 | 7.0 7.2 7.6 (7.8 15.4  6.72 22.12
4 |[PhHE K VA 7.0 7.217.4 7.2[@6.6) (7.00[(7.6) (7.6)] 7.6 7.2 15.4  6.48 21.88
5 |BY kK oF 6.8 6.86.2 (6.6)](5.8) 6.6 [(7.0) (7.2)] 7.0 7.2 14.0 6.18 20. 18
6 |[IH KA 2 AN 6.6 (6.6)] 6.8 6.6 (6.2 6.6]6.8 (6.8)[(7.0) 6.8 14.14 6.0 20. 14

1= &g Group 16
JIEA. £ Hi ¥ 4 IT 1A | 2T  2A | 3T  3A | 4T  4A | 5T  5A | 6T  6A | 7T 7A | TEC ATH Total
1|kl B Ny A KA 8.0 (8.0)(7.8) 8082 84[®4 (8.6)]80 8.2 16.94 7.38 24. 32
2 |HWE Rk AN 7.2 7.216.0) 6.9]6.8 7.2|7.6 (7.89]7.8 7.2 15.12 6.48 21.6
3 |KIR EE VN AR 6.8) 6.8)] 7.2 7.216.8 7.0 7.4 7.6/[(7.6) (8.0 14.98 6.54 21. 52




wER Y — H2AEAE P TR T RS
BFE AR A FISEAE6 H 16 H
LR B i AR A A
4 |PEES A Nyt A 2 A 7.4 7.2(6.8) 6.87.0 7.2|(7.6) (7.4 7.0 (6.6) 14.98 6.36 21. 34
5 |EfE b NI A (6.6) (6.8)] 6.6 7.0]6.6 7.0]|(7.4) (7.6)] 7.4 7.6 14.42 6.48 20.9
6 [KA X Uy (0.0) (0.0)](0.0) (0.0)] 0.0 0.0 0.0 0.0]0.0 0.0 0.0 0.0 0.0
2 [|] &, Group 1
JIE {57 4 Hi E_4 IT 1A | 2T 2A | 3T 3A [ 4T  4A [ 57 5A [ 6T  6A [ 7T 7A | TEC  ATH Total
1 [IIF ¥R U ay (8.0) (8.0)](8.4) 8.0]8.4 (8.4]8.2 82|82 80 17.36 17.26 24. 62
2 |fRE BE - 7.8 8.0|7.6 7.6((7.0) (7.2)[7.6 7.8[(8.0) (8.2) 16.1 7.02 23.12
3 |EE S} ==/ R 7.6 (71.6)|(7.8) (1.0)|(7.2) 7.4 7.6 71.6|7.6 7.6 15.96 6.78 22. 74
4 |4E ERH TE (8.0) (7.8)| 7.8 (7.2)|(7.6) 7.2 7.6 7.2|7.6 7.4 16.1 6.54 22. 64
5 |%E& Bk T ¥ 7.6 (7.6)[(8.0) 7.6 [(7.4) (7.4)]| 7.4 7.6 | 7.6 7.4 15.82 6.78 22.6
6 |2 Ak Sl (7.8) (1.6)| 7.6 7.6 | 7.4 7.6 (7.2 (1.4)| 7.4 7.4 15.68 6.78 22. 46
TO\WERE BERK SV (7.6) (7.4 7.6 7.4 1(6.6) (6.8)| 7.0 7.4|7.2 7.4 15.26 6.66 21.92
8 |kE TE (7.4) 7.2 7.2 (1.4[7.0 68|72 66|74 7.0 15.26 6.3 21. 56
2 [a] Bk Group 2
JEAE 4 Hif ¥4 IT 1A | 2T  2A | 3T  3A | 4T  4A [ 5T 5A [ 6T 6A [ 7T 7A [ TEC ATH Total
Lo st =—/A R (7.8) 8.0((8.2) (7.8)] 8.2 8.0]8.2 8082 (8.2 17.22 7.2 24. 42
2 AR R TN T 7 7.8 7.88.0 7.6|(7.6) (7.4)[(@B.2) 8.0 7.8 8.0 16.52 17.02 23. 54
3 |EfE B =—/NA R 7.8 (1.6)| 8.0 (7.0|(7.4) 7.4 7.6 T.6[7.8 7.4 16.24 6.72 22. 96
4 B T e (7.8) 7.6 7.6 (7.8)] 7.6 (7.2)|(7.4) 7.8 7.6 7.4 15.96 6.84 22.8
5 |ATHE YR N RV 7.6 (1.9)(7.8) 7.6 |(7.2) (T.0)| 7.4 7.6 7.6 7.8 15.82 6.9 22. 72
6 |GHEE XK =—/3A K (7.6) (1.6)[ 7.6 7.4 (7.0 (7.2)] 7.2 7.4 7.4 7.2 15.54 6.6 22. 14
6 |FF B T 7.4 (1.6)|(7.0) 7.2 | 7.2 (7.0)[(7.6) T.4| 7.6 7.4 15.54 6.6 22. 14




wER Y — H2AEAE P TR T RS
BFE AR A FISEAE6 H 16 H
LR B i AR A A
I Vi SV 3 T (7.4) 1.2 7.2 (1.4)|6.8) 6.8)] 7.0 7.2|7.2 7.0 14.98 6.42 21.4
2[a] i, Group 3
JIE {57 4 Hi B4 IT 1A | 2T 2A | 3T 3A [ 4T 4A [ 57 5A [ 6T  6A [ 7T 7A | TEC  ATH Total
1 |k B Ea = (8.0) (7.6)| 7.8 7.6 7.8 7.6|7.8 (7.8)](.6) 7.8 16.38 6.9 23. 28
2 |MHE HEZ5 Ea = (7.4) 7.8 [(8.0) 7.8 7.4 (8.2)|8.0 80|74 (7.6) 15.96 17.08 23. 04
3 |K¥F O® Ea = (7.6) (7.6)| 7.4 7.6 7.6 7.4[7.0 7.4|70 (7.2 15.4  6.72 22. 12
4 [BRE HE =—/3A R (7.2) 6.8)|(7.4) (.| 7.4 72|74 7.2|7.2 7.0 15.4  6.42 21. 82
5 |27 RBX - (700 7.2 7.4 7.2|7.4 72|76 (7. 7.0 (7.0 15.26 6.48 21.74
6 |4 Rt NIy ay (7.4) 7.0 |(7.2) (1.2)| 7.4 7.2 7.2 6.8)]7.2 7.2 15.26  6.42 21. 68
(L7 IANCTS == 3R (7.0) (6.6)|(6.8) 6.6 | 6.8 6.6|6.8 (7.0)] 6.8 6.8 14.28 6.0 20. 28
8 |l R T 6.4 6.4[6.4 (6.2)[(6.6) (6.6)](6.2) 6.4] 6.4 6.6 13.44 5.82 19. 26
2[0] B, Group 4
JEAE 4 Hif ¥4 IT 1A | 2T 2A | 3T  3A | 4T 4A [ 5T 5A [ 6T 6A [ 7T 7A [ TEC  ATH Total
1 =l XA TN Ty (8.4) (8.4)] 8.2 8.4 7.8 (7.6)|(7.6) 7.6 7.6 8.0 16.52 7.2 23.72
2 | FR Tz F (7.8) 7.6 | 7.6 (7.8)| 7.4 7.6 | 7.6 71.8|(7.2) (7.4) 15.82 6.9 22.72
3 A B NI ay (7.8) 7.6 | 7.6 7.4|7.2 (1.0)|(7.0) 7.2 7.8 (7.8) 15.82 6.66 22. 48
4 |I'=TF BEX =g R (7.4) (7.2)] 7.0 (7.0)|(6.6) 7.2 7.0 7.2]16.8 7.0 14.56 6. 42 20. 98
5 | =i %+ Tz 7.0 (7.0)] 6.8 (7.|(7.2) 7.0]|(6.6) 7.0 7.0 7.0 14.56 6.3 20. 86
6 |EifE A T (7.0) (6.6)|(6.8) 7.2 6.8 (7.4 6.8 7.2]6.8 7.0 14.28 6.42 20. 7
T |BEH HIE T (7.2) (6.8)] 7.2 6.6 7.0 6.6[(6.4 6.8]6.6 (6.4 14.56 6.0 20. 56
8 |/hNE B S = (6.8) (6.6)] 6.8 (7.0)[(6.4) 6.6 | 6.8 6.6]6.4 6.6 14.0 5.94 19.94




wEEsT—E HE2AIEI A e TR TR 2
BFE AR AFIEE6 A 16 H
IR BT AR B i
2[a] i, Group 5
JIE {57 4 Hi i IT 1A | 2T 2A | 3T 3A [ 4T 4A [ 57 5A [ 6T 6A [ 7T 7A | TEC  ATH Total
1 [k #& =—/3A R 8.2 80|72 6.8[82 82|72 7.2(8.6 (8.4 16.52 7.02 23. 54
2 [iie BERE TN T T 7.6 (1.2)|(7.4) 7.4|(8.2) 7.8 7.6 7.4[8.2 (82 16.38 6.78 23.16
3 |HF B =—/3A K (8.0) (7.8)|(6.4) (6.8)| 7.8 7.6 7.0 7.0[7.0 7.4 15.26 6.6 21. 86
4 [RIE HIR SV 7.0 7.0(7.2 7.2((7.6) (7.6)[(6.6) 6.6)[ 7.0 6.8 14.84 6.3 21. 14
5 | Tl SV (7.2) (6.8)] 7.0 7.0 7.2 (7.2)|(6.8) 7.0 6.8 7.0 14.7 6.3 21.0
6 IR Kt J—= XY — (7.6) (7.4)] 6.8 6.8|6.8 7.2[(6.6) (6.6)| 7.2 7.2 14.56 6.36 20. 92
7 (B — IR NIy ay (7.4) (1.2)[ 6.6 6.8 [(6.4) (6.6)] 6.6 6.8 6.6 6.8 13.86 6.12 19. 98
8 |FH S ==/ K (6.6) 6.6 |(5.6) (6.0 6.6 6.4 6.6 (6.8|6.6 6.6 13.86 5.88 19. 74
2[o] &, Group 6
JEAE 4 Hif ¥4 IT 1A | 2T 2A | 3T  3A | 4T 4A [ 5T 5A [ 6T 6A [ 7T 7A [ TEC  ATH Total
1 ke 2l TN T T 7.8 7.6 (8.2 84|74 (7.4] 7.8 82|80 7.8 16.52 7.08 23.6
2 [in g BT ay 7.6 (7.6)[(7.8) 7.6 |(7.4) 7.6 7.4 7.6|7.6 (7.8 15.82 6.84 22. 66
3 |TAE AP Tt 7.4 (1.2)[(7.8) (1.8)|(7.2) 7.2 7.2 7.6|7.8 7.4 15.68 6.66 22. 34
4 |BE =R 6.6) (6.8)| 7.4 (7.6)| 7.4 7.2|(7.6) 7.6 | 7.4 7.2 15.54 6.6 22. 14
5 [T CHAK =X T — 6.8) 7.2 |(7.4) (7.6)| 7.4 7.6|6.8 (6.6) 7.4 7.4 15.12 6.66 21.78
6 |PcRk  fEEE Tz v (7.0) (7.0)] 7.0 6.8 6.6 6.8] 6.6 6.8](6.4) (6.4) 14.14 6.12 20. 26
7 |hn Em2A e 6.4 6.8|[(7.2) (7.0)] 6.6 6.8](6.2) (6.2)] 6.8 6.6 13.86 6.06 19.92
8 | EIKEA =R 6.4 (6.2)[(6.2) 6.4|6.6 (6.6)] 6.6 6.4[(6.8) 6.6 13.72 5.82 19. 54
2[a] Group 7
[ NEf7 | 4 i ¥4 [ 17 1A [ 2r 2a]3r 3a] 4t 4a | 57 s5A [ 67 ea [ 71 7A | TEC  ATH | [Total]




fERFH—F A A T S TR A KA
BFE AR A FITEAEG A 16 H
LR B i AR A A
L[ A=— ==/ R 8.0 (7.2)[ 8.0 7.6 [(7.8) 7.8 7.8 7.4[(8.2) (8.0) 16.66 6.84 23.5
2 I AR =— /AR (8.2) 7.8|(7.6) 7.6 8.0 (8.2)]7.6 82|76 (7.4 16.24 7.08 23. 32
3 ET BEX BT ay (7.4) (7.0)| 7.4 7.4|7.6 7.6|7.6 7.8|(7.8 (80 15.82 6.84 22. 66
4 |ERP Bk SV (7.8) 7.4 7.2 17.2|7.6 (7.6)| 7.4 7.2|(6.6) (6.8) 15.54 6.54 22. 08
5 |HrfR &iL T T any (6.8) 7.0]16.8 (6.8)|(7.2) 7.0 7.2 7.0]|7.2 (7.4 14.84 6.3 21. 14
5 |AH KA ==/ R 6.8) 7.0 7.0 (7.2) (7.2)] 7.0 (6.8)| 7.2 7.0 14.84 6.3 21. 14
T |nEE HoE A (6.0) (5.8)] 6.6 6.6 |(6.8) (7.0)[ 6.6 6.4|6.4 6.4 13.72 5.82 19. 54
8 |HANLE Ei T 6.4 (6.2)](6.6) (6.8)] 6.6 6.6|(6.2) 6.2 6.4 6.4 13.58 5.76 19. 34
2 [B] Bk Group 8
JIE {57 4 Hi &4 IT 1A | 2T 2A | 3T 3A [ 4T 4A [ 57 5A [ 6T  6A [ 7T 7A | TEC  ATH Total
I o ) =—NA K 8.2 (8.2)(8.4) 8.2](8.0) (8.0)] 8.2 8.2|8.0 8.2 17.08 7.38 24. 46
2 |REL R B Uay (8.0) 8.0)] 7.6 8.0 7.6 (7.6)|(7.4) 7.6 7.8 7.6 16.1 6.96 23. 06
3 |RR EE SV (7.4) 7.2 7.4 (71.8)](6.8) (6.8)| 7.2 7.4|7.2 7.2 15.26 6.54 21.8
4 |HB 25 SV (7.4) (1.9 7.4 7.4|7.0 7.4]6.8) (6.8)]7.2 7.2 15.12 6.6 21.72
5 |HH T E (6.4) (6.6)] 7.0 7.0 [(7.2) 7.0|7.2 (7.2)] 7.2 7.0 14.98 6.3 21. 28
6 |FRHE PN - 6.8 6.8[6.8 (6.6)[(7.00 (7.0)](6.6) 6.8 7.0 6.8 14.42 6.12 20. 54
T |EiE Rek SV 6.8 (6.4)[6.6 7.0[6.6 7.0[6.2) 6.4[((7.0 (7.2 14.0  6.12 20. 12
8 |MFEE  fEA =—/3A K (6.6) (6.2)|(6.0) 6.2 6.4 (6.8)[6.4 6.2]6.6 6.8 13.58 5.76 19. 34
3[a] B, Group 1
JEA 4 Hi ¥4 IT 1A | 2T 2A | 3T  3A | 4T  4A [ 5T 5A [ 6T 6A [ 7T 7A [ TEC ATH Total
1 [ILF Pek A2k gy (8.4) (8.4)|(7.8) (7.8) 8.4 8.0[8.2 82|82 8.2 17.36 7.32 24. 68
2 [ # A== A 8.4 (8.2)[(7.6) (1.4)[(8.6) 7.8[8.4 7.8[8.0 8.0 17.36 17.08 24. 44




fERFH—F oA o TR T KA
BFE AR A FITEAEG A 16 H
LR B i AR A A
3| = AV avTARvay 7.8 7.8 (B8.0) 7.8 7.8 (7.6)[(7.6) (8.0)[ 7.6 7.8 16.24 7.02 23. 26
4 |FHE BE A2 yTRYay (7.4) (1.2)|(8.0) 8.0)| 7.4 7.4|7.4 17.6|8.0 7.8 15.96 6.84 22.8
5 |EfE W A== g (7.4) (7.4)](8.2) (8.0)| 7.6 7.4|7.6 7.6|7.4 7.4 15.82 6.72 22. 54
6 | EAH T 7.6 7.2|7.6 (1.6)[B.0) 7.2[(7.2) (1.0)[ 7.4 7.2 15.82 6.48 22.3
7 |EmE o EF =R (7.2) (7.2)| 7.6 7.4 |(71.8) 7.4 7.2 (1.6)| 7.2 7.6 15.4  6.72 22.12
8 |frLE S A== A (0.0) (0.0)](0.0) (0.0)] 0.0 0.0 0.0 0.0[0.0 0.0 0.0 0.0 0.0
3[a] &, Group 2
JIE {57 4 Hi &4 IT 1A | 2T 2A | 3T 3A [ 4T 4A [ 57 5A [ 6T  6A [ 7T 7A | TEC  ATH Total
1 [=l ZA A== A (8.4) (8.4)] 8.4 8.2 |(7.8) (7.6)] 8.4 8.2[8.2 8.0 17.5 7.32 24. 82
2 | RR SV (7.8) 7.6 7.6 (7.8)| 7.6 7.8|7.6 7.8]|(7.2) (7.0) 15.96 6.96 22.92
3 |fERE e A2y Ry gy (8.0) (1.8)[ 7.8 7.6 | 7.4 (1.H|(7.2) 7.6|7.6 1.8 15.96 6.9 22. 86
4 |MHE HEZI S (7.4) 7.8 7.6 (8.0 7.4 (7.4 7.6 7.6 [(7.8) 8.0 15.82 17.02 22. 84
5 | K V2R Yay (7.6) (7.6) 7.4 7.6 [(6.6) (7.0)| 7.4 7.6 | 7.6 7.4 15.68 6.78 22. 46
6 |G AR JyUuFs 7.4 7.4(1.8) (7.8)[(6.8) (7.0)[ 7.6 T.4[7.2 7.2 15.54 6.6 22. 14
7O |fE K ==/ R (7.4) 7.01(6.8) 7.0 7.0 (6.8)] 7.4 (7.4 7.0 6.8 14.98 6.24 21. 22
8 |'= T HBEX =—A K 6.8 6.8|6.8 6.8](6.6) (6.6)|(7.2) (7.2)] 6.6 6.8 14.14 6.12 20. 26
3[o] & Group 3
JEAE 4 Hi ¥4 IT 1A | 2T 2A | 3T  3A | 4T 4A [ 5T 5A [ 6T 6A [ 7T 7A [ TEC ATH Total
1 ke 2 A== A (8.4) (8.2)|(7.6) 7.6|8.2 80|80 7.8|7.6 (7.2 16.66 7.02 23. 68
2 IR A== g 7.6 8.0|(7.2) (7.2)|(B.4) (8.2) 7.8 7.4[80 7.8 16.38 6.96 23. 34
3 [P BER A== A (8.2) 8.0)|(7.4) (7.4 7.8 7.8 | 7.4 1.6 | 7.6 7.4 15.96 6.84 22.8
4 |lhm G A2k gy (8.0) (7.6)|(7.2) 7.4 7.6 7.6|7.6 7.6|74 (7.2 15.82 6.78 22.6




fERFH—F oA o TR T KA
BFE AR A FnoeAE6 A 16 A
LR B i AR A A
5o|HE =R (7.8) (1.6)| 7.4 7.4 7.4 7.4|(7.2) (1.2)| 7.6 7.4 15.68 6.66 22. 34
6 |LHE &M A (7.8) (1.6)|(7.0) (7.0)| 7.4 7.6|7.2 74|72 7.0 15.26 6.6 21. 86
7 O|RE MR NI A (7.4) (1.9] 7.0 7.0](6.8) 7.0]6.8 (6.8)]7.4 7.2 14.84 6.36 21.2
8 |HAT B INA T — 7.2 7.416.8 7.0]|(6.6) (6.8) 7.0 7.2[(7.8) (7.6) 14.7 6.48 21. 18
3[a] &k Group 4
JIE {57 4 Hi i IT 1A | 2T 2A | 3T 3A [ 4T  4A [ 57 5A [ 6T  6A [ 7T 7A | TEC  ATH Total
1 [HlilR FxHr¥Ir7—Hrr7—]82 80|82 (1.|8.0) 82|84 80|80 (84 17.08 7.26 24. 34
2 |RER B Va2 TR ay (7.8) (7.6)|(7.6) (8.0)[ 7.6 7.8 7.8 7.8]|7.6 7.8 16.1 17.02 23. 12
3B HEK Fysr¥sr—4rr—|(71.8) 7.8[7.8 (80|74 7.4|7.6 (6.8|7.6 1.6 16.1 6.84 22. 94
4 | A=—8 FxyLrx¥T7—Hhrr—|7.6 (71.6)| 7.4 (7.2)| 7.6 7.4 |(7.8) 7.6 |(7.0) 7.2 15.82 6.66 22. 48
5 [ET BEX HHhy (7.4) 1.0 7.4 1.0)|(7.2) 7.2|7.4 12|74 1.2 15.54 6.48 22. 02
6 | K EE R (7.4) 7.2 7.4 7.0|7.4 (7.4](.6) (6.6)|] 6.6 6.8 14.98 6.3 21.28
7 ||ER B Va2 ay 7.2 7.2(7.2 7.0((7.6) (7.4)] 6.8 7.0 |(6.4) (6.6) 14.84 6.36 21.2
8 |EEFL Bk VNG (7.2) (7.0)] 6.8 7.0 |(6.6) 7.0 6.6 (6.6)] 6.8 6.6 14.14 6.18 20. 32
HE R Group 1
JEAE 4 Hif ¥4 IT 1A | 2T 2A | 3T 3A | 4T  4A [ 5T 5A [ 6T 6A [ 7T 7A [ TEC ATH Total
1 =l XA A== A 8.2 7.818.0 (8272 (7.4[®B.4) 82|72 7.4 16.38 7.02 23. 4
2 I PER A2k gy (7.2) 7.4 7.6 7.4|7.4 (71.2)[B8.2) 8.0|7.8 7.4 15.96 6.66 22. 62
3 (A # A== A 7.4 7.0 7.2 7.0[(7.0 (6.8](7.8 (7.8 7.4 7.4 15.4  6.42 21. 82
4 |y FR Tz v 7.4 7.6 7.0 7.6]6.8 (6.8)](8.2) (8.0)[(6.4) 7.4 14.84 6.78 21. 62
S (5 S v 7.2 7.216.8) 7.2|7.2 7.0[(7.8 (80| 7.2 (6.8) 15.12 6.42 21.54
6 |dH =2z T e 7.0 7.0(7.0 7.2((6.8 (6.8)[@B.4) B.2)|70 7.6 14.7 6.54 21. 24




o SR 5l — &
BFE A

= IN =055 NN
TO|1HHE BEE AV a2y ay 6.6 6.86.4) 7.0[6.4 (6.2[((7.2 (7.4] 6.6 7.4 13.72 6.36 20. 08
8 |BH AV a2y ay 6.8 (6.8)] 6.6 6.8 (6.2 6.8[(7.2) (7.2)] 6.4 7.0 13.86 6.18 20. 04
: Y sl

AR Group 2
JIEA £ Hi ¥ 4 IT 1A | 2T  2A | 3T  3A | 4T  4A | 5T  5A | 6T  6A | 7T  7A | TEC ATH Total
1 |Hfilg Fydovsr—vrr—|(8.4) (8.6)|(8.2) (7.8)[ 8.2 7.8[8.2 8.4[84 8.6 17.36 7.44 24. 8
2 kB F A== T (8.4) (8.0)](7.8) 7.8 8.0 (7.6) 8.0 7.6]8.2 8.0 16.94 7.02 23.96
R 7 N S A== A (7.6) (1.8)|(6.6) 7.2 7.0 (6.8 7.6 7.2|7.6 7.8 15.54 6.66 22.2
4 |15 HEK Fydovsr—vrr—|(7.8) 8.2)|7.2) (.00 7.2 7.0(7.4 7.8(72 7.2 15.26 6.6 21. 86
5 lihp #55E TV ayIRTT gy 7.0 7.4 7.2 8.0)]6.4) (7.0)](7.4) 7.4 7.4 7.2 15.12 6.6 21.72
6 |lhp FER TN T 7 (7.8) (7.6)] 7.0 6.6)|(6.8) 7.2 7.4 7.2(7.0 7.4 14.98 6.54 21. 52
7 | 8 Fxsrv¥sr—vrrr—| 7.0 7.46.8 7.0]6.2 6.4]7.2 7.0]6.8 7.2 14.42 6.36 20. 78
8 |Ren EEE IRy vay [(1.6) (7.6)]6.2) (6.6)] 6.4 6.6 7.2 T7.6|6.8 7.0 14.28 6.36 20. 64

_|_: '—lﬂ\\l\

3L IR TE B Group 1
JIEAE £ i ® 4 IT 1A | 2T 2A | 3T  3A | 47  4aA | 5T  5A | 6T  6A [ 7T  7A | TEC ATH Total
1 [IF PR V2R ay 7.6 (1.4)(7.4) 7.4 7.4 (7.6)|(7.8) 7.4 7.4 7.4 15.68 6.66 22.34
2 K K& A== g (7.0) 6.8)] 7.0 7.0 |(7.6) 7.4 7.6 (7.6)f 7.2 7.2 15.26 6.48 21.74

L S =i W

33 iR TE B Group 2
JIEA. £ Hi ¥ 4 IT 1A | 2T  2A | 3T  3A | 4T  4A | 5T  5A | 6T  6A | 7T 7A | TEC ATH Total
1 ke 3l A== T (8.6) (8.4)] 8.6 8.4 ((7.6) (7.6)] 8.4 8.4(8.2 7.8 17.64 17.38 25. 02
2 | # A== 1) g 8.0 7.8[(8.4) 8.0)(7.2) (7.2)[ 7.8 7.4| 7.6 7.4 16.38 6.78 23.16




o SR 5l — &
BFE A

= IN =055 KEfE

-, sler sS s

TR B By,
JIEA £ Hi ¥ 4 IT 1A | 2T  2A | 3T  3A | 4T  4A | 5T  5A | 6T  6A | 7T  7A | TEC  ATH Total
1| 2 FxLo¥Ir—%r2—|7.8 8.2[.4) (8.6)80 82|84 82]|(7.6) (80 16.94 7.38 24. 32
2 |l ZA A== A 8.0 80|80 (8.2)[((7.6) (7.6)[(8.2 82|76 7.6 16.52 7.14 23. 66




